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final int“C = 0

final in

final int =Z;

final in:ﬁ = 3: 0{
final in {g;» Y

final int =A; 24‘“8

final intgHOUSTON
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({0 @ , 983 , 787

, 714 , 1375 , 967 , 1087 @, /* row for Chicago
({l - 983 , @ , 214 , 1102 , 1763 , 1723 , 1842 (}, /* row for Boston

{2. 787 , 214 , 0 , 888 , 1549 , 1548 , 1627 (}y /* row for NY
{4714 , , 888 , 0 , 661 , 781 , 810 }, /* row for Atlanta

AAlL 1375 @ 1549 , 661 , 0@ , 1426 , 1187 }, /* row for Miami
AQ A\V'[ﬁ‘{ 967 , 1 , 1548 , 781 , 1426 , O , 239 }, /* row for Dallas
{ 1087 , 1842 , 1627 , 810 , 1187 , 239 , 0@ } /* row for Houston
b
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tripPos[1] = CHICAGD;
}

else ifi citi.eiualii) {
}

else if(city.equ Y"))
tripPos[i]

} C

else if(city.equals({Atlanta")) { \\\}\(ﬁ
tripPos[i] = ATLANTA;

}

else if(city.equals('Qallas")) {
tripPos[i] = DALLAS;

}

else if(city.equals("ouston™)y {
tripPos[i] = HOUST

}

elgg {

numberOfUndefinedCities

D

undefinedCities[numberOfUndefinedCities] = city;
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From Boston to NY: 214

Distance: 1977
Bye!

1763
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if(someCityIsInvalid) {0\ /Z-D‘XM[K a _':;-_ 1C_;[ 0{&{[\& S ol(f

System.out.print("Error: ");

/A
v "o’ Bk’ @) O
for(int i = @; i < numberOfUndefinedCities; i ++) { NGolp

System.out.print(undefinedCities[i]);

if(i < numberOfUndefinedCities - 1) { How many cities? /7é>
System.out.print(", "); 3
) ¥ Enter a city:
System.out.println(" are undefined."); Miami .
} Enter a city:
else { Boston
/% Add up source-to-dga distances. */ Enter a c'|_ty

,3#

inj' dist = 0
Y ;::1; qm . { From Miami to Boston: 1763
Str1 dstCis S“&"({ From Boston to NY: 214
] A0S Distance: 1977 Z/I
& e Bye! Tl (e/l
int cifrentDist = ; L — }‘o\[&, {7
currentDist =(distances o [@; L < \

dist += currentDist; i /

System.out.print("From " +@+ "to " ); -bv‘?

System.out.println(dstCity)+ ": " + currentDist); F N j;
}

(/‘ pd
\\} (/ =
System.out.println("Distance: " + dist); o /\ oS N
}
System.out.println("Bye!"); - -(."’ {
input.close(); ’l& jml/z—\
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1 |for(int@= Qrow < la.lengthl; row ++) {

2 | System.out.print ("Row" +_Lowis—

@|<[for@~ 0; col <&alt

4 System.out.print (a[ro coll);
5

}
you 0 Yol /o

SSystem.out.println(); }
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J.n = 0;
for (int row = O, row < a.length; row ++) {
for (int col ol < al[row].length; col ++) {

Lotal +=
umOfElements ‘!’

}
dovbLe @YSEEGRE BN I/ O aen s
System.out.println("Average is " + average);
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EXmP'e 2 Lalemlst May and Ui

:Lnt@ a0 __J
int 10] fo
for (1 row =-0; row < a.length; row ++) {

for (int col = 0; col < alrow].length; col ++) {
if (alrow] [col]l > max) {
max = alrow] [col];
}
if (alrow] [col]l < min) {
min = alrow] [col];
}
}
}

System.out.println("Maximum is " + max);

System.out.println("Minimum is " + min);
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if (sum\>)maxSum) {
maxRow = row; 'X/
maxSum = sum; Q . /Viovg ZLL + A;{wf’»%
\}\L L2 aicd L3 7
System.out.print ("Row at index " XRow) ; / /
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boolean allPos = true;
for (int row = 0, row < a.length; row ++) {
for (int col = 0; col < alrow].length; col ++) {
alirod)- AllEas, & al
b}l
if (allPos) { /* print x/ } else { /* print x/ }

.
’

Alternatively (with early exit): é’\ /

boolean allPos = true;

for (int row = 0;(a row < a.length; row ++) {
for (int col = 0; col < al[row].length; col ++) {
allPos = _alrow] [coll.>.0;

P
if (allPos) { /+ print */ } else { /+ print =/ }
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